
BELT-DRIVEN PROFESSIONAL AIR COMPRESSOR AC-B  200/4MC PRO

ART. NUMBER: 39831
MODEL: BELT-DRIVEN PROFESSIONAL AIR COMPRESSOR AC-B  200/4MC PROSHEET: 1/4

POS. CODE DESCRIPTION QTY
1 A13678 PISTON PUMP LB30 1

2 A13720 ELECTRIC MOTOR 1

3 BOLT 4

4 WASHER 20

5 A13692 PLATFORM 1

6 BOLT 8

7 WASHER 9

8 NUT 8

9 A13791 AIR LINE 1

10 A13685 CHECK VALVE 1

11 A13705 RECEIVER 1

12 A13743 WHEEL 2

13 A13745 WASHER 2

14 A13694 BOLT 2

15 NUT 2

16 WASHER 2

17 A13799 DRAINING TAP 1

18 A13744 WHEEL 1

19 A13776 JOIN 1

20 A13762 PRESSURE REGULATOR 1

21 A13789 QUICK CLAMP 2

22 A13790 RILSAN HOSE 1

23 NUT 1

24 WASHER 1

25 WASHER 1

27 A13686 SAFETY VALVE 1

28 A13675 JOIN 1

29 A13781 JOIN 1

30 A13736 PRESSOSTAT 1
14/12/2022

TABLE 1



BELT-DRIVEN PROFESSIONAL AIR COMPRESSOR AC-B  200/4MC PRO

ART. NUMBER: 39831
MODEL: BELT-DRIVEN PROFESSIONAL AIR COMPRESSOR AC-B  200/4MC PROSHEET: 2/4

POS. CODE DESCRIPTION QTY
31 A13687 VALVE STARTER 1

32 A13718 PRESSURE GAUGE 2

33 A13674 ADAPTER 1

34 A13777 JOINT 1

35 A13769 HOLDER 1

36 A13768 HOLDER 1

37 A13805 PULLEY 1

38 A13708 BELT 1

39 A13747 RIEMEN 1

40 BOLT 1

41 A13737 GRATING BASIS 1

42 A13738 GRATING COVER 1

43 A13715 LATCH 4

44 A13681 DISTANGE BAR 1

45 WASHER 5

46 BOLT 5

47 A13712 CABLE 1

49 A13670 JOINT 1

50 A13688 BALL VALVE 1

14/12/2022

TABLE 1



BELT-DRIVEN PROFESSIONAL AIR COMPRESSOR AC-B  200/4MC PRO

ART. NUMBER: 39831
MODEL: BELT-DRIVEN PROFESSIONAL AIR COMPRESSOR AC-B  200/4MC PROSHEET: 3/4

PUMP
POS. CODE DESCRIPTION QTY

1 A13770 CRANKCASE 1

2 A13802 OIL DRAINING PLUG 1

3 A13725 STUD M8X35 8

4 A13828 BEARING SEAT  1

5 A13811 OIL SEAL 24X47X8 1

6 A13817 GASKET BEARING SEAT 1

7 A13695 SCREW 4

8 A13748 SPRING WASHER 20

9 A13773 CRANKSHAFT 1

10 A13758 BALL BEARING 6205Z 1

11 A13723 ROD 2

12 A13734 PISTON 2

13 A13732 PISTON PIN 2

14 A13682 INSIDE CIRCLIP 4

15 A13701 PISTON RING SET 2

16 A13759 BALL BEARING 6304 1

17 A13818 GASKET BEARING 1

18 A13829
BEARING COVER 

TRIANGLE
1

19 A13696 SCREW M6X20 3

20 A13749 SPRING WASHER  3

21 A13819
BOTTOM CYLINDER  

GASKET
2

22 A13716 CYLINDER 2

23 A13728 NUT M8 8

24 A13713 CYLINDER HEAD 2

25 A13826 CYLINDER HEAD GASKET 2

26 A13827 VALVE PLATE SET 2

26.1 A13821 ALUMINIUM GASKET 2
14/12/2022



BELT-DRIVEN PROFESSIONAL AIR COMPRESSOR AC-B  200/4MC PRO

ART. NUMBER: 39831
MODEL: BELT-DRIVEN PROFESSIONAL AIR COMPRESSOR AC-B  200/4MC PROSHEET: 4/4

POS. CODE DESCRIPTION QTY
26.2 A13764 VALVE SEAT 4

27 A13697 SCREW 8

28 A13820 TOP CYLINDER  GASKET        2

29 A13782 ELBOW CONNECTOR 1

30 A13783 3 WAYS CONNECTOR  1

31 A13795 COOLER SET 1

32 A13808 PULLEY 1

33 A13750 WASHER  1

34 A13751 SPRING WASHER 1

35 A13727 PULLEY BOLT M8X40 1

36 A13815 AIR FILTER ASSEMBLY 2

36.1 A13813 AIR FILTER CARTRIDGE 2

37 A13698 SCREW 4

38 A13752 WASHER 4

39 A13793 OIL BREATH PIPE 1

40 A13703 OIL LEVELER  1

41 A13804 OIL FILLING PLUG 1

42 A13729 EXHAUST NUT 1

14/12/2022

PUMP


